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George E. Andrews ( 1971) : NUMBER THEORY , P 62
George E. Andrews (1971) : NUMBER THEORY , P 94

ARFAZER :

1000 INPUT "8 XA 9 F ;N
1010 INPOT "mees X 3 8 “;D
1020 INPUT "88 58 & M = -~ 81 25 3L F R # 1t ";DIGIT

1030 PRINT N;"/";D;"=";

1040 PRINT USING “###";QUOTIENT; :PRINT".";
1050 DIM NUM(DIGIT+1) '
1060 RESIDE=N MOD D

1070 QUOTIENT=N \ D

1080 FOR I=1 TO DIGIT

1090 N=RESIDEX10

1100 NOM(I}=N\D

1110 RESIDE=N MOD D

1120 NEXT I

1130 FOR I=1 TO DIGIT

1140 PRINT USING “#";NUM(I);

1150 NEXT I
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